Form 9-330

(Rev. 5-63) SUBMIT IN DUPLICATE* F ed,
UNITED STATES LICATE® B B e, a2 oo,

DEPARTMENT OF THE INTERIOR structions on | e NATION AND SERIAL MO,

reverse side)

GEOLOGICAL SURVEY NM-03153
WELL COMPLETION OR RECOMPLETION REPORT AND LOG * 6. IF INDIAN, ALLOTTEE OR TRIBE NAME
fa. TYPE OF WELL: e | DRY D Other 7. UNIT AGREEMENT NAME

b. TYPE OF COMPLETION:

NEW WORK DEEP- PLCG DIFF. = -
WELL i OVER C} EN BACK RESVR. Other 5. FARM OR LEASE NAME

2. NAME GUF OPERATOR 0.H. Randel
Energy Reserves Group, Inc. ""/i:r»f"\\ 9. WELL ~o.

; A7\
. ADDRESS OF OPERATOR \ \ 2—Ev .
P.0. Box 3280 - Casper, WVomina”éégagzsz; 10 FIEED AXD RO, OF WHDOAT
E

4. LOCATION OF WELL (Report location clearly and in acdprdan 7 any Staterrek&lfements)‘ \ B . D
At gurface ] ,700l FSL &1 ,800l FtL W ) “ 0\\ 2 NI \ 11. SEC., T., R, M., OR BLOCK AND SURVEY
\\\ Y A '-.\ OR AREA
A
At top prod. interval reported below ,\CP‘ ™.
GEQLO;ON_ W Sec. 10-T26N-R11W
At total depth \)- S"P&R\M‘“

14. kw/ DATE ISSUED 12, COUNTY OR 13. STATE
PARIS .
! San Juan New Mexico

18. ELEVATIONS (DF, REB, RT, GR, ETC.)* 19. ELEV. CASINGHEAD

GRD 6,364'; KB 6,378' | —-=-=mmmmmememe

15. DATE SPUDDED ‘ 16. DATE T.D. REACHED | 17. DATE .CO.\IPL. (Ready to prod.)

4-5-80 | 4-16-80 5-20-80

20. TOTAL DEPTH, MD & TVD 21. PLUG, BACK T.D., MD & TVD 22. IF MULTIPLE COMPL., 23. INTERVALS ROTARY TOOLS CABLE TOOLS
1 ! HOW JMANY* DRILLED BY
6,395 6,352 NA | 0-TD | mmmmmmmm -

24. PRODUCING INTERVAL{S), OF THIS COMPLETION—TOP, BOTTOM, NAME (MD AND TVD)* WAS DIRECTIONAL
URVEY MADE

6,310' - 6,330" - Dakota W i
‘C‘r“ l’%‘
26. TYPE ELECTRIC AND OTHER LOGS RUN "’% }” é’?xa"& CORED

Dual Induction - SFL & Compensated Neutron - Formation Densim

28. CASING RECORD (Report all strings set in well) J/l/ '*76’/) 4
CASING SIZE [ WEIGHT, LB./FT. DEPTH SET (MD) HOLE SIZE CE\IE\TI\\ RECJ@} (-Ol,‘ afOUST PULLED
t
8-5/8" ! 243 955" 665 sx Class "™ w/?g -0-
! % +
4-1/2" _9.5# & 10.5# 6,391 See_Bdck of Page =0-
! i
29. LINER RECORD 30. TUBING RECORD
SI2E H TOP (MD) ; BOTTOM (MD) fSACKS CEMENT* SCREEN (MD) SIZE DEPTH SET (MD) PACKER SET (MD)
! None f 2-3/8" 6,314" None
31. PERFORATION RECORD (Interval, aize and number) 32, ACID, SHOT, FRACTURE, CEMENT SQUEEZE, ETC.

6 310'-16"' & ({!32%’1 ng F% ﬁ&mﬁ 12 holet )DEPTH INTERVAL (MD) | AMOUNT AND KIND OF MATERIAL USED
6310'-16" & Breakdown w/1000 gal. Smith 7-1/2¢
JUN 10 1980 6326 -30" " " &

additives.

Fadbuadar 1 See back of page for frac details
33.% W L 'f'A" TR ‘]"’“"‘ ] PRODUCTION o
DATE FIRST PRODUCTION ' L EDwing, gas lift, pumping—size and type of pump) WELL STATUS (Producing or
; shut-in) SI
DATE OF TEST i HOURS TESTED CHOKE SIZE | PROD'N, FOR OIL—BBL. GAS-——MCF. WATER—BBL. GAS-OIL RATIO
5-20-80 ! 24 48/64" }“ﬁiﬁfﬁ? 9 | 357 (load fluid) 39,667 SCF/STBO
FLOW. TUBING PRESS, ! CASING PRES.SL'P.E E;_L;gé:r:gm OIL—BBL. l GAS—MCF. ' W.—\‘I‘F.R——‘BBL. ] OIL GRAVITY-API (CORR.)
50 150 psi | T 50| 9 | 357 | 2(10ad f1u1dj 36.1
34. DISPOSITION OF GAS (Sold, used for fuel, vented, etc.) x TEST WITNESSED BY
VENTED DURING TEST | T.C. DURHAM
33. LIST OF ATTACHMENTS
SAMPLE DESCRIPTION
36. I hereby 'c\ ifr thaminv and attached information is complete and correct as determined from all available records
SIGNED ___ )’{\—74//)” rrree Dist.Prod Engr-RMD pate _June 3., 1980
v *(See Instructions and Spaces for Additional Data on Reverse Side)

v
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SAMPLE DESCRIPTION

1010

30

50

70

1080

10

30

40

60

1190
1200
10
20
50

80

90

1300

10

50

60

80

30

50

70

80

1110

30

40

60

90

1200
10
20
50
80

90

1300

10
50
60

80

1400

20% Ss: clr, cg, lse, sbang
80% Sh: bl gry-brn, sft, plty-blky, clayey

1002 Sh: AA, some slty-sl sndy

80% Ss: clr, cg, sbrnd-sbang, lse
20% Sh: AA

70% Ss: AA
30% Sh: gry, sft, blky, clayey, w/occ carb incl

70% Ss: AA, some wht, fg, cons, cly £14, tite
30% Sh: AA

30% Ss: AA
70% Sh: bl gry-1t gry, sft, blky, clayey, w/occ carb incl

20% Ss: AA
80% Sh: AA, some sl slty

N.S.

80% Ss: clr, cg, ang-sbrnd, 1se
20% Sh: AA

100% Ss: AA

20% Ss: wht, f-m-cg, psrt, cly fld, tite, some lse.
80% Sh: bl gry-brn, blky, frm, clayey-some sl slty
N.S.

100% Sh: bl gry, sft, blky-plty

100% Sh: bl gry-gry, frm, blky, clayey, some sl slty

10% Ss: wht, vfn-g, sbang, cly f1d, tite, occ carb incl
90% Sh: AA

30% Ss: AA
70% Sh: AA

100% Sh: bl gry-brn, frm, blky, sl clayey, w/occ carb incl

N.S.

203 Ss: wht, f-mg, psrt, sbang, mod cly fl4, visible porosi-
sl feld

80% Sh: 1t gry-gry, blky, clayey

10% Ss: AA
90% Sh: AA

10% Ss: wht, fg, sbrnd, cly f1d4, tite
90% Sh: AA



1400 - 30 100% Sh: bl gry-gry, frm, blky
30 - 50 100% Sh: AA, some sl slty, blky-plty

50 - 90 10% Ss: wht, fg, sbang, cly f14, tite, sl feld
90% Sh: AA

1490 - 1520 10% Ss: AA
90% Sh: AA, w/occ carb incl

20 - 40 100% Sh: AA
40 - 50 N.S.
50 - 60 100% Sh: AA, some sl sndy

1560 - 1650 90% Sh: AA
10% Coal: blk, vit

50 - 60 100% Sh: gry, sft, blky, clayey
60 - 80 100% Sh: AA, w/carb incl
80 - 90 100% Sh: AA, some dk brn, sl carb

1690 - 1720 10% Ss: wht, fg, cly f1ld4, tite
90% Sh: AA

20 - 50 30% Ss: wht, fg, sbang, cly £f1l4, tite, sl feld, sl calc,
w/carb incl
70% Sh: AA

50 - 70 100% Sh: 1t gry-gry, sft, blky, clayey
70 - 80 20% Ss: wht, fg, sbang, cly fld, tite, sl calc, sl feld,
w/occ carb incl

80% Sh: AA
80 - 90 N.S.
90 - 1800 20% Ss: wht, fg, sbang, cly £f14, tite,

sl feld, w/occ carb incl
80% Sh: AA

1800 - 10 10% Ss: AA
90% Sh: AA

10 - 40 20% Ss: wht, fg, sbang, cly fld, tite, sl feld, w/carb incl
80% Sh: AA

40 - 50 20% Ss: AA, calc, no feld
80% Sh: gry, sft, plty, clayey

50 - 70 30% Ss: AA, poss sl por.
70% Sh: AA i



S~

1870 - 90 N.S.

90 - 1900 20% Ss: wht, fg, sbang, cly f1ld4, tite, w/carb incl
80% Sh: aA

1900 - 10 30% Ss: AA
70% Sh: AA

10 - 20 N.S.
20 - 50 30% Ss: wht, fg, sbang, cly fld, tite, sl feld, s & p,
sl glauc
70% Sh: AA
50 - 70 100% Sh: AA

1970 - 2710 N.S.

- 10 -



an

Sample

Descriotion

2710 = 20
20 - 30
30 - 40
40 - 50
50 - 60
60 = 70
70 - 80
80 = 20

90 - 2800

2300 - 10
10 - 20
20 = 30
30 = 40
40 - 50
50 - 60
60 = 70
70 - 80
80 - 90

90 - 2900

2900 - 10
10 - 20
20 = 30
30 - 40
40 - 50
50 - 60
60 = 70
70 - £0
g0 - 90
90-3060

3000 - 10
10 - 20
20 - 20
30 - 40
40- 50
50 - 60
60 = 70
70 - 80
80 - 90

90 - 3100

3180 - 10
10 - 20

tr Ss wht vfg s ang clay flld

90% Sh gys,gy-tnsdk gy=bn carb

10% Coal

LA

60% Sh in=tn,dk gy=bn carb,gy slty,gn=gy mudst
30% Coal

AA

AA

80% Sh 1t gysgy=bn slty,sm carb,tn sity
20% Coal

AA

AA

40% Sh whi~lt gysgy-tn carbsocc in sliy
60% Coal

AA

AA

Sh tn slty,li gy mudst 20%

80% Coal

AA

AA

10% Ss 1t gy vfg s rdd w/oce carb strks
90% Sh blu=gyssm gy=-tn sliy ip

AA

AR

100% Sh aasocc 1t gy-wht mudst,dk gy-bn carb
tr Cozl

AA

AA

90% Sh blu-gy sgn=gystn=gysocc 11 gy

10% Coal

AA

AA

90% Sh aascce dk gy=bn carb

10% Coal

AA

AA

90% Sh gr=gy,bn slty,dk gy-bn carb

10% Coal

AA

AA

90% Sh azj,oce gy sltys,abdt dk gy-bn carb
10% Coal

LA

AA

1005 Sh gn=gys1< gy sltysbn carb

tr Ss whi=lt gy vfg v carb

tr Coal

AA

AA

Sh gy-tn,bn carbsoce 1t gy slty.sm aa100%
tr Ss 1t bn vfg sé shly

AA

AA

100% Sh gy=-tn slty ipssm dk gy=bn carb
tr Ss whi-1t gy vfg

AA

AA



. ’\\\

3120 - 30
30 - 4C

40- 50
50 - €0

60 - 70
70 - €0
80 - 90

90 - 2200
3200 - 10
10 - 20
20 - 30

30 « 40
40 - 50

50 - 60

60 - 70
70 - 80

80 « 90
90 - 3300

2300 - 10

10 - 20

20 =« 30
20 - 40
4C - 50

50 - 60
60 - 70

70 - 80
80 - 20
90 - 3400
3400 - 10
10 - 20
20 - 30

30 - 30

40 - 50

100% Sh tn=qy sliy ipsabdt dk gy=bn cark,occ gy sliy
tr Ss 1t gy vfg

AA

AA

100% Sh aa

tr Coal

tr Ss 1t gy s& vfg shly

A3

AL

80% Sh 1t gy mudsi,gy-tn slty ipsabdi dk gy=bn carb
10% Ss wht=13 gy vfg sl shly

7C% Ceal

A4

AA

90% Sh gy sliy,lt gy-in slty ipsdk gy-bn carb
10% Coal

100% Sh gy=bn,1t gy bent,sm g slty

ir Ss 11 gy sép vfg s ang

100% Sh gy sdy sfi,sm gy slty frm 1t tn bent
100% Sh tn sliy sft,sm gy=bn cart

tr Ss 1t gy vfg sé w/cart lams

tr Ss gy vfg sdp shly

100% Sh gy=in slty,occ gy=-bn carb

100% Sh gy slty,dk gy=bn carb

10% Ss whi-1t gy vfg sé sl shly ip

90% Sh gy-tn carb,dk gy~bn

10% Ss aa

90% Sh 11 bn sity,gy-tn

20% Ss 1t in vfg=sli sép

80% Sh 1t bn sliy,gysgy=tnsocc dk gy=bn carb
ir Ss 1t tn vfg s shly

90% Sh aa

10% Coal

ir Ss 1t gy vfg

100% Sh gy slty gy=-bn slty,dk gy=bn carb

tr Coal

10% Ss tn vfg sép shly

90% Sh gy-tn sltiy carb ip

20% 5s whi=lt gy vfg s rdd sm 1t gy Bhly
g0% Sh gy=in slty carb

20% Ss =2

80% Sh gy slty,bn carb

100% Sh gy-tn slty,gy slty,occ 1t gy sliy
80X Sh aassm tn carb

10% Coal

10% Ss 1t tn vfg s rdd shly ip

9C% Sh azsabdi dk gy=-bn carb

100% Sh tn sliy.gy=tn slty,dk gy=bn carb
100% Sh gy=tn carbsdk gy-bn carb,in slty
10C% Sh gy=tn,gy sltyssm 1i gn-gy slty,dk gy-bn carb
20% Ss whtelt gy sép vfg

60% Sh gy sity,gy-tn mudst

20% Coal

30% Ss whi=lt gy vfg sl shly

70% Sh 1t gy bent,gy=tn slty,ck gy=bn carb
tr Ss aa :

100% Sh aa,abdt dk gy=tn cart

100% Sh gy sliy,gy-tn.dk gy slty

- 12 -



50 - 60

€0 = 70

70 - 80

80 - 90

20 - 3500

3500~ 10

10 - 20

20 - 20

80 = 70

70 - 80

80 -~ 9C

TN

90 - 2600

3600 - 10

10 - 20

20- 30

20 - 40

40 - 50

60 - 70

70 - 80

80 - 20

3700 -« 10
10 - 20

80% Sh gy slty,dk gy=bn carb

20% Coal

90% Sh gy slty,gy-bn sliy carb

tr Ss whi fg clay fl1d

10% Coal

tr Ss aa,lt gy vfg sl shly

90% Sh dk gy=bn carb

10% Coal

100% Sh bn carb,dkmgy=bn carb,sm gy-tn sliy
tr Ss 1t bn vfg shly

tr Ss gy vfg carb

100% Sh tn slty carb,dk gy-bn carb
10% Ss whi vfgesli,sm gy vfg shly
20% Sh 1t bn carb sliy

20% Ss
90% Sh aassm gy=bn carb

90% Sh aa,sm 1t ern slty

10% Coal

100% Sh aa,dk gy=bn sliy carb
10% Ss wht vfg sép clay flld

9G% Sh gy slty,dk gy=kn carb

0% Sswht=lt gy vfg=clt séo shly
90% Sh gy sltysgy=-bn carb

90% Sh gy=tn sliy,dk gy=tn carb
10% Ss wht fg s rdd clay flld
10% Ss aajocc v carb

90% Sh aa,sm tn slty carb

tr Coal

20% Ss in vfg s& shly,carb ip
80% Sh tn,gy slty,sm dk gy=bn carb
Ss wht vfg 10%

9054 Sh gy=bn sity,ck gy-tEn carb
tr Coal

90% sh 1% gy bent,dk gy cart

10% Coal

20% S6 1t gy vfg sép sm clay fild
80% Sh tn slty carb,dk gy slty

tr Coal

20% Ss aasem gy vfg cark

80% Sh aa

20% Ss wh> fg s ang clay flld
80% Sh aasem bn sliy

20% S§ aa

80% Sh aa

105 Ss aassm g clay flld

90% Sh tn sfi carb,dk gy=bn cark
904 Sh aa,sm gy sliy

10% Coal

10% Ss wht=tn femg s ang clay flld
80% Sh tn slty carb,dk bn carb
10% Cozl

105% Ss wht vfg s ang clay flld
90% Sh gy sliy,gy=bn carb,dk gy-bn carb
10% Ss aa,sm gy vfg sép sl shly
90% Sh gy sliy,dk gy-bn carb
100% Sh bn carb,dk gy=bn carb
90X Sh aa

10% Ss wht=etn vfg s rdd clay f11d

- 13 -
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20 = 30 ir Ss aa
1004 Sh aa
30=-40 NS
40 - 30 20% Ss It gy vfg s rdd
80% Sh gy=-tn,dk gy=bn carb,gy sliy
S0 - €0 10% Ss whi=lt gy vfg sS% sm clay flld
70% Sh gy sliy.gy=-bn carb
20% Coal
6C = 70 tr Ss 1t gy vfg s& shiy
90% Sh aa
10% Caal
70 = 80 tr S¢ aa w/carb flecks
90% Sh aa
10% Coal
80 - 90 0% Ss 1t gy vfg sép shly
90% Sh aa,abdt dk gy v carb
9m= 380C  100% Sh tn,bn carb,dk bn cark

3800 -« 10 AA A
40 = 20 100% Sh bn shly carb,dk gy-bn carb
20 = 30 AA

30 = 40 100% Sh aassm 1% bn slty
40 - 502 100% Sh 1t br carb mudst,dk gy=bn carbyoce bn slty
50 = 60  90% Sh 1t bn slty carbsdk bn carb
10% Coal
60 = 70 AA
70 - 80 tr Ss 1t tn vfg sép carb clay fild
100% Sh bn carb,dk gy-bn carb
80 - 0  100% Sh 1t bn slty carb,dk gy carb,sm bn sliy carb
tr Geal
90 - 3900  100% Sh gy slty carbsdk gy=tn carb
3900 = 1C  Sh dk bn carbssm dkeblk
10 = 20 100% Sh az,occ it bn carb
20 = 30  AA,tp Coal
30 - 40 tr Ss gy vfg sép shiy

Sh aa
40 = 50  100% Sh gy=bn shly carb,dk gy carb
50 - 60 AA
60 =« 70 N S

70 = 80 tr Ss 1t gy vfg s rdd
Sh gy slty carbsdk gcy=tlk carb

80 = 90 100% Sh bn carb dk gy=tn carbjocc gy slty

90 - 4000  10% Ss whi=lt tn fg s ang clay flld carb ip
90% Sh aa,tr Coal
4000-10 30% Ss whi-lt gy sé vfg sm 1t bn vfg séo shly

70% Sh aa

10 = 20 10% Ss aa
904 Sh gy-bn,bn slty,gy cart

20 -~ 30  10% Ss az,em bn slty shly
90% Sh bn cart,ck bn carb,tr Coal

3C = 40 104 Ss whiwli gy slo vfg elay flld
20X Sh za

40 = 50 90% Sh bn sity carb,dk gy=bn carb,em gy sliy carb
10% Coal

50 - 60 10% Ss gy vfg sdp shly
90% Sh gy slty carb,dk gy=bn cart

60 = 70 100% Sh aassm bn slty,tr Coal

70 - 80 tr Ss gy vfg sép shly
Sh aa



4080
90 -

4100

10
20

30

40

€0
70
80

90 -
4200
10
20
30
40

S0

60

70

80

90 -
4200

10
20
30
40
50

€0
70

g0
Q0 -

20

30

- 20
4100

- 10

- 20
- 30

4200
- 10

- 50

- 90
4400

40- S0

20% Coal ,20% Sh aa
tr Ss gy vfg sé shly

70% Sh

bn slty,dk gy=bn carb

30% Coal

90% Sh

gy slty,bn carb,dk gy-bn carb

10% Coal
100% Sh aa,tr Coal

20% Ss
80% Sh
20% Ss
80% Sh
20% Ss
80% Sh
10% Ss
90% Sh
80% Sh
50% Sh

wht=lt gy vf=fg sép clay flld ip

gy »Qy=bn carkt

aastr glauc,sm gy shly

aa,t# Coal

aa

bn slty carb,dk gy carb

bn vfo=slt s shly,occ 11 bn vfg shly
gy sliy carb,dk bn carb

aa,20% Coal

aa,50% Coal

tr Ss gy vfg w/cark flecsks sl shly
Sh bn carbsdk gy carb

20% Sh
N S

10% Sh
AL

70% Sh
10% Ss
90% Sh

aa,80% Coal
22,20% Coal
aa,30% Coal

wht=lt gy vfg sép clay flld
bn carb sliy ip,gy=bn carb

Ss a210%

80% Sh

aa

10% Coal
100% Sk gy=~bn slty carb,bn carb
Ss wht=lt tn vfg sdp,sm clay flid

90% Sh
10% Ss
90% Sh

azstr Ceal
aassm gy=bn vfg shly

aa

100% Sh za
tr Ss whiwclr fg s ang sm clay flld

Sh aassm dk bn slty
100% Sh gy=tn carb

Iy

Sh aa abdt dk gy-bn carb

10% Ss
90% Sh
10% Ss
90% Sh

1t gy fo ir glauc
gy shly,bn carb,dk gy=bn carb
1% gy vfg sm clay flid

aa

100% Sh gy=bn carb sliy ip

10% Ss
90% Sh

gy vfg séo shly
aassm ck gy=tr carb

1C0% Sh aa

10% Ss
90% Sh
30% Ss
70% 3h
40% Ss
€0% Sh
40X Ss
60% Sh
30% Ss
70% Sh

clp=wht fg s ang

gy carb,dk gy=bn carb sliy ip
wht=clr s& vf=fg clean occ sl shly
gy=bn slty carb

1t gy fg sé sl shly,ccc glauc

aa

aajocc gy sl slty

aassm dk gy=bn carb

wht=lt tn fg occ glauc,sl shly

aa

50% Ssm aajsocc dirty,sm gy vfg shly

S50% Sh aa
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4450 - 60

60 - 70

70 - €0

80 - 90

90 - 4500

4500 - 10

10 « 20
20 = 30

30 - 40

40 - 50

50 - 60

60 = 70

70 - €C

80 - 90

90 ~ 4600

4600 - 10

10 « 20

20 - 30

30 - 40

40 - 50

50 - €0

60 - 70

70 - €8

80 - S0

90 = 4700

4700 - 10

10 - 20

20 - 30

20% Ss aa

80% Sh gy-bn carb sliy ip,dk gy~bn carb
30% Ss whi=l1t gy fg sd occ glauc,sm clay flld
70% Sh aa sm gy carb

30% Ss gy vfg séo shly,sm aa

70% Sh gy sliy carb,dk on carb

20% Ss 1% gy f-mg oce glauc,clay flld
80% Sh az

10% Ss aa

90% Sh bn sltysgy=bnsdk gy-bn carb
100% Sh aa,tr Ss eaa

Sh az sm tn carb mudst

% Ss -tn T lay flld
30% Ss 1t gy=-tn fg s ang sm clay ,occ bn vg shly

70% Sh aa

20% Ss aa

80% Sh gy sliysgy-bn slty carb

10% Ss aa,90% Sh aa

20% Ss clp=wht femg sép & ang clay flld
40% Sh aa

40% Cozl

10% Ss 1% gy-tn fg s ang sm clay flld,
g0% Sh aa

10% Coal

10% Ss aassm 1t gysgy fg sép sm shly
80% Sh aa

0% Coal

10% Ss azzssm clay flld

20% Coal

70% Sh gy slity carb,dk gy=bn cart
10% Ss gy vfg sdp shly

20% Coal

70% Se¥ az sm bn cark

10% Ss aassm bn vfg sép shly

90% Sh bnegysdk on slty ip carb

10% Ss gy=bn vfg sép shly

g0% Sh aa

20% Ss aasem 1t gy sép fg clay fild
10% Coal

70% Sh aassm dk gy=bn carkt

tr Ss az,tr Coal

Sh bn sliy carb,dk bn cark

AA

tr Ss whi=lt gy fg sép s ang clay fllc
30% Coal

70% Sh aa .

20% S3s 1t gy-gy vfg slp si shly

20% Coal

604 Sh dk gy=-bn carb

20% Ss gy vfg sép shly

80% Sh aa,tr Coal

20% Ss aa,sm brx vfg sdp shly cart
80% Sh aa

10% Ss 1t gy=gy vfg sép sm clay flZd
90% Sh dk qy,gy=bn cart,tr Coal

10% Ss whtetn vfg,sm gy vig sép shly
90% Sh gy,dk gy-bn carb ’
20% Ss aa

80% Sh aa

tr Ss aa

Q0% Sh bn carb, 10% Coal - 16 -



4730 = 40 tr Ss gy=bn vfg sép shly
Sh bn slty carb,dk gy=bn carb
40 - 50 100% Sh aassm gy slty
50 - 80  AA, tr Coal
60 - 70 hA
70 = 20 ir Ss 11 tn vfo=slt shly
Sh bn carb,dk gy-bn carb
80 « 80 tr Ss gy efg shly
Sh aa
90 - 4800 100% Sh gy=dk gy slty ecarb,gy-tn slty carb
4800 - 10 AA

10 - 20 AA
20 = 30 AA
30 = 4C  AA
40 = 50 AL

50 « 60  100% Sh gy slty carb,dk bn carb,oce gy-bn sliy carb
60 - 70 AA
70 = 30 LA
80 - 20 AA
90 =~ 4900 Ak
4900 = 10 tr Ss dk bn vfg carb slty shly
Sh gy~bn,dk bn slty carb

10 - 2C AL

20 = 20 AA

30 -« 40  100% Sh bnagy=tnsdk gy-tn carb slty ip
40 - 50 LA

36 - GO AA

60 « 70 Ah,sm dk bn lign

70 « 80 LA

80 = 30  AA

90 - 5000 AA
5000 - 10 100% Sh ck gy=tn carb slty ip

10 - 20 AA
20 = 20 AA
30 - 40 AA
40 - 50 A4
50 = 60  100% Sh dk bn slty carb
80 = 70 RA
70 - 20 AA
80 - 20  AA

90 - 5100 KA
5100 = 10 100% Sh ¢k bn slty carbssm bn sl cark,>ce dk gy=tlk carb
10 - 20 Af

20 = 30 A4
30 - 40 RE
40 = S0 44
50 = 60  100% Sh dk tn sliy carbsoce bn cark
60 = 70 AA
70 - 80 AA
80 = 90  AA

90 - 5200 100% Sh aasem bn slty
5200 = 10  100% Sh bn sliy carb,dk gy=-bn carb,sm dk gy slty sl cart
10 - 20 AA

20 - 20 4A
30 = 40 AA
40 = 50  AA
50 - 60 NS

60 = 70 100X Sh bnegy slty sl cart,cdk bn slty v carb
- 17 -



5270
80

9 80
- 90

90- E300

5300
10
20
30
40
50
60
70
80

90 -

5400
10
20
30
40
50
60
20
80

90 -

5500
10
20
30
40
50
60
70
€0

90 -

5500
10
20
30
40
50
60
70
80

90 -

5700
10

20
30
40
50

60
70
20

N0 -
5800
10

- 10
- 20
- 30
- 40
- 50
- 60
- 70
- 20
- 90
5400
- 10

- 40
- 50

- 60

- 90
5500

- 30
- 40
- 50

- 60

- 90
5800
- 10

an

- 40
-~ 50
- 70
- 20

- 90
5700

- 70
- 20
5800

- 10
- 20

20 « 30
30 - 40

100% Sh aa,sm gy slty

AA

AA

AA

AL

100% Sh dk gy=bn cark slty ip
AA

LA

100% Sh dk gy=bn slty carb
100% Sh aasoce gy slty

1003 Sh gy,gy=bn slty carb,abdt dk gy=bn carb
Ak

AA (Foor Samples)

KA

AA

AA

AA

AA

100% Sh bnegy slty gy slty carb,dk bn sity carb
Adysm dk gy=~tn v cart

AA

AA

trSs gy=bn sliyeshly,Shk za
100% Sh dk gy sliy carb,ck gy=bn carb
AA

AL (Poor Samples)

AA

tr Ss dk gy vfg shly,Sh aa
100% Sh gy sliy carb,ck bn cart
AA

AA

AA

LA

100% Sh aa,sm dk bn carb

AA

tr Ss dk gy vfg shly,Sh aa
100% Sh dk gy=bn slty carb

At (Poop Samples)

AA

tr 5s dk bn vfz shly,Sh za

LA {Poor Samples)

Lk

AA

10C0% Sh dk gy carb,gy=tn carb
30% Ss dk gy=bn vfg shly

70% Sh aa

60% Ss aa,40% Sh aa

70% Ss aa,30% Sh aa

80% Ss a2a,20% Sh aa

60% Ss ¢k gy=bn vfg v shly

40% Sh a:

30% Ss aa,70% Sh aa

100X Sh dk gy-bkk v sity cale,tr Ss aa
0% Ss aa

40% Sh az,sm gy-bn cart,sm blk v slty calc
trSs aa,Sh aa

100% Sh aa

AA

AA

AA - 18 -



5840 = 50  100% Sh aassm gy-dk gy sliy
50 = 6C  100% Sh dk gy=tlk slty
60 = 70 10% Ss dk gy vfg shly
90% Sh aa
70 = 80 AA
80 = 90 100% Sh az,sm dk gy v sltysocc dk gy=bn sliy carb
90 -~ 5900 AA
5900 « 10  Sh aastr Ss bn vfg shly carb
10 = 20 AA
20 = 30 AA{Pocr Samples)
30 = 40  tr Ss dk bn vfg sliy-shly
Sh dk gy=bn slty
40 = 50 0% Ss dk bn vfg slty-shly,occ gy vfg shly
90% Sh dk gy=bn slty
50 « 60 tr Ss aa,gy vfg shly
Sh aa
60 = 70 0% Ss dk bn vfg shly,occ bn vfg sl shly
90%M Sh dk gy-tik slty
70 - 80 LA
80 = OC  20% Ss bnsgy=brn vig shiy-sliy
80% Sh dk gy-blk slty
90 = 8000  ir Ss a2,5h aa
63C0 = 10  30% Ss gy=-bn vfg s ang shly ip
70% Sh blk slzy
10 « 20 100% Sh blk slty=sdy
20 - 30 20% Ss gy-dk gy vfg s ang shly
804 Sh aa
30 = 40 tr Ss aa,Sh aa
40 - 50 40% Ss dk gy vfg s ang shly
60% Sh aa
50 = €0 100% Sh blk slty
60 = 70 10% Ss bn vfg s ang shly
90% Sh blk v sliy,sm gy slty
70 = 80 AA (Pcor Samples)
80 - 9C tr Ss dk bn vfg shly carb
Sh aa,sm dk gy=tn slty cark
90 - €700 AA
6100 = 1C  100% Sh blk v sliy
10 « 20  tr Ss dk bn vfg v shly
e Sh blk v sltyscce dk gy-tlk slty
20 = 30 tr B dk kn vfg v sity-shly
Sh aa,v slty
30 = 4C  20% Ss aa
80% Sh aa
40 = 50 20% Ss az,sm dk bn sdp vfg shly
80% Sh dk gy-btn sltysblk slty
50 « €0 10% Ss dk gy=bn vfg slty-chly
90% Sh zaa
82 = 70 10% Ss dk gy vfg shly
90%Sh aa
70 - 20 tr Ss aa,Sh a2
80 = 20  100% Sh dk gy=bn slty carb,blk slty
90 = 6200 KA
£200 = 10 AA
10 - 20 AA
20 =« 30 AA
30 =« 40 AhhyoceSh dk gy slty
40 « 50 tr Ss dk gy vfg shly cale
Sh aa )
50 - 60 AA - 19 -



6260 =

70 =

80 -

70

e0

90

90 - €200

6300 -

10 -

20 -

30 -

40 -

50 -
60 -

70 -

80 -

~ .

10

69
70

80

20

tr
Sh
tr
Sh
tr
Sh

$s gy fg s ang ciay flld shly
aa

Ss gy f=mg prly srid s rdd shly
aa

Ss 1t bn vfg s ang tt

aa

NS

30% Ss bn vfg s ang tt w/sm intrbdds
70% Sh dk gy-bn=bik slty

80X Ss bneck bn vfg s ang sl shly tt
20% Sh aa

90% Ss aa

10% Sh aa

90% Ss 1t bn fg s ang clean,sm az
10% Sk aasdk gy-bn sliy

90% Ss bn=dk bn fg 8 ang shly,occ aa
10% Sk az

100% Sh dk gy=blk slty (Poor Sagple)

tr
Sh
tre
Sh

Ss dk bn vfg shly
aza{Foor Sample)

Ss clr mg s ang uncons
aa{Poor Sample)

70% Ss gy-dk gy vfg shly
20% Sh aa

90 = 95(T.Ds) tr Ss 2a,Sh aa

20



